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1. (4-points) Express the matrix A = I 1 2 I as a product of elementary matrices.
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2. (6-points) Find the particular solution to the DE y" - 6y' -f-^25y = 0 which satisfies

) = e 8 ,the conditions y(O) = -2 and y (8-
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3. (4-points) Use Cramer's Rule to find the value of y given in the system

Aj=

x+4y+5z=1
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4. (4-points) Find the matrix adj A where A = 0 3 1
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ral solution of the DE 2y"' - 17y" + 48y' - 45y = 0, givenFi d the genen5. (4 points)

that e3x is one of its solutions.

4A C4

0
3

P

6. (3-points) Use the Wronskian to determine whether the set { 1 + x, 2x - 3x2, 15x2}

is linearly independent or linearly dependent on the interval (-0, oo).
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7. (4-points) Determine whether or not the vector u = (5, -6, -8 ) is a member of

the subspace of R3 spanned by the vectors v = (1, 3, 5) and w = (-1, 4, 6).
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8. (3-points) Let A be a 3 x 3 nonsingular matrix with JAI = 2. Find the

determinant ladj Al.
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9. (6-points ) Find a basis for and the dimension of the solution space of the system

x1+x2-x3+x4=0

2x1 - 3x2 + 8x3 - 13x4 = 0

7x1 - 3x2 + 13x3 - 23x4 = 0
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Bonus Problems H,4714 2 ,CO C (A -t L!

(I) (5-points ) Show that if the set of vectors {u, v, w} is linearly independent, then

the set {u, u + v, u + v + w} is also linearly independent.
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(l1) (5-points) Show that the solution set of the homogeneous linear second-order DE
A(x)y" + B(x)y' + C(x)y = 0 is a subspace of the vector space of all differentiable
functions.
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